[ Efficiency vs vertpos |

e P P
g : *+# **“’4.5 :

2 H+ HT ey

> 08}--- R e
% i .

s 4 +

% 0.6

o+ | , | , | i
T 1 i : + ;
a4 [l : : :
A %ﬂ#ﬁ#ﬁ 11—
i : : $l1F
0.950 : : :
1

1072 10~ 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom
~N 1.2
—

effIC|ency VS ver!
o
o]
! T
F

- Ml

0.95!

Ratio

30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
N 1.2

efficiency vs Sim. PV

05 =15 510 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


